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Section [: Multiple Choices (55 points)

1 A decrease in nominal income
{A) Leads to a leftward shift of the money demand curve «~
(8) lowers money demand for any given interest rate

D \(C) lowers interest rates -
D) all of the above 2

2. "Monetary base" refers o _\ ){/:-_-':

(A} The money supply divided by the price level.
(B) The supply of ceniral bank money.
% (C) The overaill supply of money.
(D} Nominal income times the function of interest rate.

3. The LM curve is the set of combinations of such that i,
@ interest rates (i} and real money Halances {Ms), the money supply is equal money demand

— (B} Output {Y) and real money baunces (Ms), the production of output is equal demand
r) {C) Output {Y) and interest rates (i), the production of output is equal demand
(D) Qutput (Y} and interest rates (i), the money supply is equal the money demand
. | . 3 /
4. Any change in the marginal propensity o consume (c1) \_’,._——-—
(A) Will shift the LM curve location. Vv
(B) Will change the slope of the LM curve.« Mo M

D (C) Will shift the IS curve location.
(D} will change the slope of the IS curve.

5. Suppose fiscalt policy makers implement a policy to reduce the size of a budget deficit by decrease
Ihe government spending. Based on the 15-LM model, we know with certainty that the following will
oucur as ¢ result of this fiscal policy nction (G-T) Cwl- -

‘A) Invesirnent spending will increase. «£

@ Investment spending may increase, decrease, or not change.
B {C) There will be no change in invesiment spending. =

(D) Investment spendcling will decrease.

6. Suppose the economy is currently operaling on both the LM curve and the IS curve, Which of the
following is Fulse for this economy?
(A) The supply of ceniral bank money equal 1o the overall supply of money
(B) Production equals demand. «
B {C) The money supply equals money demand.«”
(D) All of the above are frue

7. Which of the following occurs when disposable income is zero?
(A) Saving must be zero = ¢ = Co-Ci¥p
(B) Consumption must be zero

L @ Consumption must be positive

(D} Saving is positive

Use the information below to answer question 8: ASe A L5060 + Lgo°
C = 1000 +.75YD y = tooo ¥ ASY =
1=850 ;G =2500 ;T=1000
8. The equilibrium level of GDP for the above economy equals: .5 Y =
(A) 3600.
(B) 4350.
D g)13400.

@ 14400.
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9. Which of the following evenis will c:: use the mteresi rate to lncrecxse2

(A) a decrease in the reserve ratic yey, o
(B a decrecse in hominal income éé z
an open market sale of bonds,_

(D) all of the above

}

10. An increase in the parameter ¢, the proportion of money IndIVIdUCl|S wish to hold as curency, will tend
to cause which of the following?

i B (A} on increase in the consumption 2% & O - <) }J"‘
on increase in the money multiplier W~ C + -
\) increase in the demand for central bank money { :
(D) both B and C are true cx0i-¢) ’\EE =1
11. Which of the following is NOT a characteristic of bonds? > 3
{A) Are sold for a price that varies inversely with the inferest rate. Y :
(B) Pay zero interest. = \ ©°
{C) Cannot be used for transactions. «~ ¥ =00
CAx L
(@) All of the above.
12. Suppose there is a simultaneous central bank sale of bondls and tax decrease. We know with ce;’fPiniy
that this combination of policies must cause: MS,L % L g
(A) an increase in the inferest rate « ¢
(B) areduction in the demand for money ‘m:: 1s
(C) Qutput (Y} may increase, decrease, or not change. —_—
O (DY all of tha above
13. Which of the following events will cause a reduction in eauilibrium output in the goods market?

(Al a raduction in the marginal prov=nsity to consume
B a decredse in fc:xesr[*
a decrease in autonomous consumption

(D) an increase in government spending 4

| 14. Suppose the consumption equation is represented by the following: C =150 + 0.9Yo. Given this

information, the saving equation is:

(A} S =150 +0.1Yp ASo 4+ YD
(B] S=-150+0.9Ypet

C_ ©@s=-150+0.1Y

(D} S= 135+0.1Yp

15. When a closed economy is in equilibrium, we know with certainty that
{A}1 =5+ (G-T)

S Y.L
(B)I— I-v:/{—_r
C (G '=5+1-G) 5~ ‘
(D)G=Tand$ = s - Tala-T) T =9+F-a)

l 16. After a monetary expansion, which of the following is a complete list of the variables that must

increase?

{A) Consumption. . [y
(B} Consumption and investment. L

(C) Consumption, output and the interest rate.
(© Consumption, output and investment. X




17. Which-of the following generally occurs when a central bank pursues exponmoncg}i monetary policy?
{A) the centiral bank sells bonds and the interest rate increases <
(B) the central bank sells bonds and the interest rate decreases < }ﬂ‘ buy \o.mg
(C] the central bank purchases bonds and the interest rate increases '

D @ the central bank purchases bonds and the interest rate decreases ¢ 7&:\\‘\
<=\ =

18. If individuals do not hold checkabie deposits, we know that:
{A) Demand for central bank money equal the demand for curency (Hd= CUd)
{8} Demand for money equal the demand for currency (Md =Cud) _. 4
(C) the money multiplier is 0 e (c=\) P AN

d

{D) demand for deposits is equal to the demand for money (Md = Dd)x

19. An increase in the interest rate will cause:
(A) A reduction in the supply of central bank money.
(B) A recluction in the demand for re:serves.—~ 0
(C) An increase in the demand for currency. ”~
{D} All of the above

20. If government spending and faxes decrease by the same amount,
(A) The IS curve does not shiff.e<
(B) The LM curve shifts downward.s< : \ \
(C) The IS curve shifts rightward.
(D) The IS curve shift lefiward.

—_——

21. Assume thuit investment does NOT depend on the interest rate. A reduction in the money supply will
cause which of the following for this economy?2 s
{A} an increase in investment L (y ) L _Ts
(B) no chanqge in the interest rate

Q (C) an incraase in output Y4

(D) a reduction in investment

22. Suppose the marginal propensity o consume equals 0.6 (c1 = 0.4). Given this information, which of the
following events will cause the largest reduction;in output?
{A) T increases by 300  Ugel. _

(B Investment decreases by 250 (1% }k
G d S T ere -c)
CQeamenmbro = €%, g0 gy
d
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Section I1: Short Answer Question~:45 points) %

Question #1 (10 Points)

M
Suppose the demand for money Md is given by the equation -—;— =Y (12.5 -8 i)

Where P is the price level Y is real income and i is a nomindl interest rate.

a. Suppose thayy = 200, and nominal money supply is 2,460. What is the equilibrium interest rate?

. q
eﬂrk-‘-lnu. akk #?_ = __}i':—

Wbo = y(1.5-3t)
wee | \w.c-3Bt

oo /
%L = 1.5~ "

(:’).O'L

b. Show graphically what happen to the interest rate when real income increases.
o gl f:& M\\ WAL L C e

c. What happens to the demand for money when the interest rate falls to zero? lilustrating the shape
of the LM curve at a zero inferest rate.
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Quzstion #2 (16 Points) u

ror each of the following, draw into the diagram provide§ ]
IS-LM model of a closed economy with fixed prices, and @xplai
output (Y}, and Investmeni (1)

curves should shift in the
en 1o interest rate (i),

'L: Q&CV‘&aJ v

: (}) '

b. Anincrease in the required reserve of comm | banks,

: "M S (/?
) - Tt
K = L2 |
/ G s/ % inere®? (
y o Jecvess =
Mﬁ_ﬂ_x\, ’vu \/ I' Jccvectsﬂ—

c. An increase i government purchases financed by printing money.

A n ETET

d. Anincrease in government purchases financed_ by increasing taxes by the same amount.
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2usation #3 (20 Points) %

Considar an aconomy with the following components:

Consumption: C =30+ 0.75Yp Toxes: T=20
Investment : | = 40 + 0.05Y - 400i Real money supply: Ms/P = 148
Government spending: G= 45 Real money demand: M9/P = 0.4Y-500 i

Derive the IS and the LM relations.

Solve for equilibrium output and interest rate.

What is the equilibrium level of consumpticn, Investment, and of the Government's budget? Is the
government runining a deficit or a surplus?

d. Assume that G decreases to 33, at the same time money supply increase to 150. Describe the
effects of afiscal exe ansion and a monetay controcticn on ouipuj_C(_), Interest rate (i), and

} b) investment {l}.
4 -:Lg I'U‘*C:-kﬂu\. ? - y

y=C+1L +& ~

0O UG

Y= 2o+ 35715 +410 +.05) -Hoo( +H5

y - .BY-Hoop +100

-
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MR = «Y4 Y-5oo

(Y- zo 4+ 1250 L5~
P Beo - 005 ( — 3o +\280 ¢

| \so = 3aSet => (T—:% Y = 330+ (280,04

(Y=u20)
<) ¢ =26 + 35 (420 -70) 4

\e=32e3

T = HO+ .0SxULO - o0« .ot

(F=053/
ru\:f::j Ju’a'c-ﬂ' _‘33

—_ - - 2E =
@ ‘3°“M\°~gjd=@- ‘—ﬁ _____’2,0 %g / ILS
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